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 BCOC-136  

BACHELOR OF COMMERCE (GENERAL) 

(BCOMG) (CBCS) 

Term-End Examination 

December, 2021 

 

BCOC-136 : INCOME TAX LAW AND PRACTICE 

Time : 3 hours Maximum Marks : 100 

Note :  Answer any five questions. All questions carry 

equal marks.  

 

1. Discuss agricultural income and its types. 

Distinguish between agricultural income and 

partly agricultural income with examples.  10+10 

2. (a) What are the provisions of Income Tax Act 

regarding commutation of pension ?  

(b) Mr. X is the general manager of a steel 

company. He draws a salary of < 5,500 per 

month. He retires on 31st December 2019, 

after completing 26 years and 11 months of 

service. He is entitled to one month earned 

leave for every year of completed service. He 

received < 1,00,000 for encashment of 

earned leave on retirement. He has availed 

of 20 months earned leave while in service.  

He has encashed the unutilized earned leave 

standing to his credit on the basis of last 

drawn salary. Compute the taxable amount 

of leave encashment of Mr. X for the 

assessment year 2020 – 21.  10+10 
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3. (a) What do you understand by allowances ? 

What are fully taxable and fully exempted 

allowances ? Explain.  

(b) What are the provisions for calculating 

House Rent Allowance ?  10+10 

 

4. Explain the meaning and definition of 

Perquisites as per Section 17(2) of the Income 

Tax Act. Explain the perquisites taxable for all 

employees (General perquisites).  10+10 

 

5. The following particulars are given by  

Mr. S. Rajan, Chennai in respect of his annual 

income for the year ended 31.03.2020. Calculate 

his taxable salary.  20 

(i) Salary (p.a.) < 1,70,000 

(ii) HRA 20% of salary 

(iii) Actual house rent paid  

(He lives in Chennai) 

< 1,200 p.m. 

(iv) Contribution to recognized 

provident fund  

< 20,000 p.m. 

(v) LIP on his own life  

(Sum assured < 20,000) 

< 6,000 

(vi) Amount deposited in PPF 

account  

< 15,000 
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6. Define annual value and state the deductions 

that are allowed from the annual value in 

computing the income from house property.  5+15 

7. (a) Explain special cases where income from 

business is not taxable under ‘Profit and 

Gains of Business or Profession.’  

(b) State any eight business losses which are 

not deductible from business income.  10+10 

8. The following particulars of income are 

submitted by Smt. Suman Garg for  

assessment year 2020 – 21. She lives in Delhi.   

(i) Basic pay < 10,000 p.m.  

(ii) Dearness allowance @ 10% of salary  

(iii) HRA 30% of basic salary  

(iv) Medical allowance < 200 p.m. (amount 

actually spent on her own treatment is  

< 2,000) 

(v) Wardenship allowance < 400 p.m.  

(vi) Rent from house property < 3,000 p.m.  

(vii) Contribution to RPF 10% of basic salary  

(viii) House rent paid < 600 p.m.  

(ix) Donation to approved charitable institution 

< 20,000 

 Compute her total income for assessment  

year 2020 – 21. 20 
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9. Write short notes on any four of the  

following : 45=20 

(a) Taxation of previous year income during the 

same year  

(b) Provident Fund  

(c) Compulsory Audit of Accounts  

(d) Capital Gain Exempt from Tax  

(e) Clubbing of Incomes  
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 ~r.gr.Amo.gr.-136  

dm{UÁ` _| ñZmVH$ Cnm{Y (OZab)  
(~r.gr.Amo.E_.Or.) (gr.~r.gr.Eg.)  

gÌm§V narjm 

{Xgå~a,  2021 

~r.gr.Amo.gr.-136 : Am`H$a {dYmZ Ed§ ì`dhma 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 
ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ 

h¢ &  

1. H¥${f Am` Am¡a CgHo$ àH$mam| na MMm© H$s{OE & H¥${f Am` 
Am¡a A§eV… H¥${f Am` _| CXmhaUm| g{hV AÝVa ñnï> 
H$s{OE &  10+10 

2. (H$) n|eZ Ho$ g§amerH$aU Ho$ g§~§Y _| Am`H$a A{Y{Z`_ 
Ho$ H$m¡Z-H$m¡Z go àmdYmZ h¢ ?  

(I) lr X EH$ ñQ>rb H$ånZr _| _hm à~ÝYH$ h¢ & CZH$m 
_m{gH$ doVZ < 5,500 h¡ & dh H$ånZr H$s  
26 df© VWm 11 _mh H$s godm nyar H$aZo Ho$ níMmV² 
31 {Xgå~a, 2019 H$mo [aQ>m`a hþE & do 20 _mh H$m 
AdH$me bo MwHo$ h¢ & CZH$mo H$m`© Ho$ nyao dfm] H$m EH$ 
_hrZm à{V df© H$s Xa go A{O©V AdH$me {_bVm  
h¡ & CÝhm|Zo < 1,00,000 A{O©V AdH$me Ho$ àmßV 
{H$E & godm Ho$ Xm¡amZ CÝhm|Zo AdH$me H$m ZH$XrH$aU 
godm{Zd¥{Îm H$s VmarI na A§{V_ doVZ H$s Xa go {b`m 
h¡ & lr X Ho$ {bE AdH$me H$s ZH$XrH$aU H$s H$a 
`mo½` am{e H$s JUZm H$a {ZYm©aU df© 2020 – 21 Ho$ 
{bE H$s{OE &  10+10 
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3. (H$) ^Îmm| go Amn Š`m g_PVo h¢ ? nyU©V… H$a `mo½` Am¡a 

nyU©V… H$a _wŠV ^Îmo H$m¡Z-go h¢ ? ì`m»`m H$s{OE &   

(I) _H$mZ {H$amE ^Îmo H$s JUZm Ho$ àmdYmZ Š`m h¢ ?  10+10 

 

4. AZwbm^ Ho$ AW© Am¡a n[a^mfm H$s Am`H$a A{Y{Z`_ H$s 

Ymam 17(2) Ho$ AZwgma ì`m»`m H$s{OE & g^r H$_©Mm[a`m| 

Ho$ {bE H$a `mo½` AZwbm^m| (gm_mÝ` AZwbm^m|) H$s 

ì`m»`m H$s{OE &  10+10 

 

5. MoÞB© Ho$ lr Eg. amOZ Zo 31.03.2020 H$mo g_mßV hmoZo 

dmbo df© Ho$ {bE AnZr dm{f©H$ Am` Ho$ ~mao _| 

{ZåZ{b{IV {ddaU {XE :  20 

(i) Hw$b doVZ  < 1,70,000 

dm{f©H$ 
(ii) _H$mZ {H$am`m ^Îmm  doVZ H$m 20%  

(iii) dmñVd _| _H$mZ H$m àXÎm {H$am`m 
(dh MoÞB© _| ahVm h¡) 

< 1,200  

à{V _mh 

(iv) ñd`§ Ho$ Ûmam à_m{UV ^{dî` {Z{Y 
_| A§eXmZ 

< 20,000  

à{V _mh 

(v) ñd`§ Ho$ {bE OrdZ ~r_m àr{_`_  
(~r{_V am{e < 20,000) 

< 6,000 

(vi) gmd©O{ZH$ ^{dî` {Z{Y _| O_m  < 15,000 
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6. dm{f©H$ _yë` H$mo n[a^m{fV H$s{OE VWm _H$mZ gån{Îm go 

Am` {ZYm©[aV H$aZo Ho$ {bE dm{f©H$ _yë` go Xr OmZo dmbr 

H$Q>m¡{V`m| H$m CëboI H$s{OE &  5+15 

7. (H$) CZ {d{eï> XemAm| H$s ì`m»`m H$s{OE O~ ì`mnma 

go Am` ‘ì`mnma AWdm noeo Ho$ bm^ Ed§ àm{ßV`m±’ 

erf©H$ _| H$a `mo½` Zht h¡ &  

(I) {H$Ýht AmR> ì`mnm[aH$ hm{Z`m| H$mo ~VmBE Omo {H$ 

ì`mnm[aH$ Am` go H$Q>m¡Vr `mo½` Zht h¢ &  10+10 

8. lr_Vr gw_Z JJ© Zo AnZr Am` Ho$ gå~ÝY _| H$a {ZYm©aU df© 

2020 – 21 Ho$ {bE {ZåZ{b{IV {ddaU O_m H$amE & dh 

{Xëbr _| ahVr h¢ &   

(i) _yb doVZ < 10,000 à{V _mh  

(ii) _h±JmB© ^Îmm doVZ H$m 10% 

(iii) _H$mZ {H$am`m ^Îmm _yb doVZ H$m 30%  

(iv) {M{H$Ëgm ^Îmm < 200 à{V _mh (AnZo CnMma Ho$ 

{bE CgZo dmñVd _| < 2,000 IM© {H$E)  

(v) dmS>©Z ^Îmm < 400 à{V _mh  

(vi) _H$mZ gån{Îm go {H$am`m < 3,000 à{V _mh  

(vii) à_m{UV àmo{dS>oÊQ> \$ÊS> _| A§eXmZ _yb doVZ H$m 10%  

(viii) _H$mZ {H$am`m ^wJVmZ < 600 à{V _mh  

(ix) AZw_mo{XV nwÊ`mW© g§ñWm H$mo < 20,000 H$m XmZ  

 CgH$s H$a {ZYm©aU df© 2020 – 21 Ho$ Hw$b Am` H$s 

JUZm H$s{OE &  20 
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9. {ZåZ{b{IV ‘| go {H$Ýht Mma na g§{jßV {Q>ßn{U`m±  
{b{IE :  45=20 

(H$) JV df© H$s Am` H$m H$amamonU Cgr df© _| hmoZm  

(I) ^{dî` {Z{Y  

(J) boIm| H$m A{Zdm`© A§Ho$jU 

(K) H$a _wº$ ny±Or bm^  

(L>) Am`m| H$mo BH$Æ>m H$aZm  


